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LITERATURE
1. Answer the following questions in 30-40 words. (2x3=6)

a. How did the digging of beds for the hermit turn out to be a boon for the king?

b. Do you agree that poet Ruskin Bond loved his grandmother? Give textual
references to justify your opinion.

c. How did the poet APJ Abdul Kalam’s mother act as a source of inspiration to him?
GRAMMAR

2. Read the following conversation and then report what was said
by completing the following passage. 4)

Manager: Where is your father?
Boy: I have no father. He died two years ago.
Manager: Who came here with you?

Boy: He was a stranger who brought me for a treat.

The manager asked the boy a) . Puzzled, the
boy told the manager that he had no father and added b) two
years ago. At this, the manager asked the boy c) . The boy
replied that he was a stranger who d) treat.
WRITING 4)

3. Imagine yourself that you are Pranay, a teenaged son who caused your mother
to run through a painful condition because of your incessant and unreasonable
demands. Now you are able to realize yourself that your mother can no longer
cope with your ‘defiant’ and ‘disrespectful’ disposition. Pen down your feelings
in the page of a diary taking clues from your English Reader Book — Changing
Times.

ACTIVITY (6)

Make something creative as a gift for your mother.
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1. Fill in the blanks:
a. There are natural numbers between the squares of numbers n and n+1.

b. A number ending in numbers of zeroes is not a perfect square.

c. The cube 0f 0.3 is

d. 682 will have at the units place.

e. Cube of a number ending in 7 will end in the digit

f.x+ta)(x+b)=x>+(a+b)x+

g. Number of terms in the expression a®+ be x d is

2. Solve the following problem.

i How many natural numbers lie between 182 and 192?
(a) 30 (b) 37 (c) 35 (d) 36

ii. Which of the following is not a perfect square?
(a) 361 (b) 1156 (c) 1128 (d) 1681

i11. If 36 is expressed as a sum of successive odd natural numbers , then the expression will
be .

(a) 1+3+5+7+9+11 =36 (b) 1+3+5+6+9+11 =35 (c) 1+3+5+7+9+12 =36 (d) None.
iv. Which letter best represents the location of 25 on a number line?

() A (b)B (©C (d)D
A B C D

01234567

e

v) The product of a binomial and monomial is a

(a) Monomial (b) Binomial (c) Trinomial (d) None of these

3. Answer the following questions.

1) Expand the following, using suitable identities. (0.9p — 0.5q) 2.

ii) If area of the square is x>-8x+16 then find out the sides of the square.
[i1) Find the value of following cube root of: 27 x 2744

iv) If x+1/x=9, find the value of x>+ 1/x*

v)) Find out the square root of 90 by estimation method.
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SECTION -A

SUBJECT: PHYSICS

> Select the correct answer:

1. A brick is kept in three different ways on a table as shown below. The pressure exerted by the

brick on the table will be

A B C
(@) maximum in position A (b) maximum in position B
(c) maximum in position C (d) equal in all cases

2. Three containers of same sizes contain different amount of water as shown in figure. If we
arrange the containers based on decreasing hydraulic pressure at the bottom of containers, the

correct order is

(@ C>B>A ())B>C>A (C)A>C>B (d)C>A>B



3. Three containers of same sizes contain different liquids of same volume as shown in figure. If

we arrange the containers based on decreasing hydraulic pressure at the bottom of containers,

\Q@Q
o
A B C

@ A>B>C (b)B>C>A (ccC>A>B (C>B>A

the correct order is

4. There are three containers of different sizes as shown in figure. If we pour 500 ml of water to
each container the correct sequence of the containers, based on decreasing hydraulic pressure

at the bottom of containers, is
A B (]

@ A>B>C (b)B>C>A (ccC>A>B dC>B>A

5. There are three peaks of a mountain range as
shown in figure. Select the correct statement
from following possibilities.

(a) Atmospheric pressure at peak C is more than
that at peak B

(b) Atmospheric pressure at peak A is less than that at peak C
(c) There is no difference in atmospheric pressure at all peaks

(d) Atmospheric pressure at peak B is more than that at peak C but is less than that at peak A



» Answer the following short answer type questions:
6. Two persons are applying forces on two opposite sides of a moving cart. The cart still moves

with the same speed in the same direction. What do you infer about the magnitudes and
direction of the forces applied?

7. In a game of tug of war two situations are described by

S ——y
300N 300N
b S j-\
this figure. Find the net force and direction of movement haﬁj L2 dﬂ

of the rope for each situation. P .
400N 300N
§R& ek

8. Suppose hot water is kept inside a closed plastic £

A

bottle. Then this plastic bottle is placed in an ice M)E
-
g

bath. Describe your observation and explain it.

SECTION-B

CHEMISTRY

A. Select and write one most appropriate option out of the four options given for each of
the following questions

1.The first well oil was drilled in

(@) USA

(b) USSR

(c) UK

(d) India

2. What are the primary elements of LPG and CNG
(a)Butane and hexane

(b) Methane and hexane



(c)Methane and butane
(d) None of the above
B. Assertion - Reasoning based questions.

These consist of two statements — Assertion (A) and Reason (R). Answer these questions
selecting the appropriate option given below:

(a) Both Aand R are true and R is the correct explanation of A
(b) Both Aand R are true and R is not the correct explanation of A
(c) Alistrue but R is false
(d) Ais False but R is true
1. Assertion :Coal is a fossil fuel.

Reason :lt is formed due to compression of organic material over millions of
years.

2. Assertion: Sunlight and air are inexhaustible sources of energy.
Reason : These resources are present in unlimited quantities in nature and
arenot likely to be exhausted by human activities.

C. Case study-based Question :

1.This is a pie chart about energy sources in the country X in the year 2015. Examine it and

answer the following questions given below.

Renewables and others

Nuclear 2%

0
electricity 8% 17% Coal

40%
Natural gas 33%

Petroleum

a) What percentage of fossil fuels consumed that year?



(b) Do you find that renewable sources played an important role in the country?
Give reason for your answer.
(c) Mention the names of fossil fuels used by this country.
( d) Which fossil fuel used by the country X is a cleaner fuel?
SECTION C (BIOLOGY)
MCQ type questions:

1.Cell walls is found in

a. plantcells only
b. animal cells only
c. both (a) and (b)
d. none of them
2. The organelle associated with different colour pigments in plants are

a. Mitochondria
b. chromoplast
c. leucoplast
d. none of these
3.Microorganisms that causes disease are also known as

a. pathogens
b. fungi
c. antigen

d. microbes

The question below consists of an assertion and a Reason.Use the following key to choose

the appropriate answer.

(a) Both Aand R are true and R is the correct explanation of A.

(b) Both Aand R are true but R is not the correct explanation of A.
(c) Alis true but R is false.

(d) Ais false but R is true.

4.Assertion (A): Number of cells in a living body in directly proportional to the size of the body

Reason (R): All cells are of similar shape and size in human body.

a. Both Aand R are true and R is correct explanation of A

b. Both Aand R are true and R is not the correct explanation of A
c. Aistrueand R is false

d. Ais false and R is true.



5. Assertion (A): Microorganisms are generally observed under microscope.

Reason(R) : They are microscopic in nature.

Both A and R are true and R is correct explanation of A
Both A and R are true and R is not the correct explanation of A
Ais true and R is false
d. Aisfalse and R is true.
6. The following image given is neither a living nor a non living thing.

o T w

Identify the organism and state two features of it.

_——

.,w.y,.r\

7.Label the parts in the given diagram.

i) Which controls the entry and exit of cellular substances.

il)Which keeps the cell turgid.




D.A.V. Public School, DVC, MTPS, Bankura — 722183
Academic Session: 2024 — 2025

Class: VIII Subject: Social Science

Summer Vacation Holiday Home Work

Q.1 Which of the following statement is not correct?
a) Rotation of crops, strip cropping are the methods of soil conservation.
b) Floods should not be avoided by building dams across the rivers.
c)The examples of mankind’s unwise actions are deforestation, over-grazing and mining.
d) The land use pattern is determined by the continuous interplay of the physical and human factors.
Q.2 Match the following:
Column -A Column -B
A) Black Soil i) Quick formation of soil
B) Rajasthan ii) Rich humus content
C) Nile Delta iii) Lava Rock
D) Dense forested area iv) Deep fertile soil
a) A-iv;B—i;C—ii; D—iii
b) A-iii;B-i;C—iv;D-ii
C) A—i;B—ii;C—iii;D—iv
d) A-ii;B—iii;C—iv;D-i
Q.3 Correct and rewrite the answer.
Terrace farming and contour ploughing should be encouraged across the plain region.
Q.4 Fill in the gaps :
93% : 7%
Q5 Assertion (A)-In countries that have adopted a democratic form of government or polity

Reason (R)-In a democracy, king choose our leaders so that they can exercise power responsibly
on our behalf

a) Both (A) and (R) are true but (R) is the correct explanation of (A)

b) Both (A) and (R) are true but (R) is not the correct explanation of (A)
c) (A)is true but (R) is false.

d) (A)is false but (R) is true.




Q.6 Assertion (A)-Constitution plays a crucial role in laying out certain important guidelines that govern
decision-making within these societies.
Reason (R)- The Constitution usually contains rules that ensure that minorities are not excluded from
anything that is routinely available to the majority.
a) Both (A) and (R) are true but (R) is the correct explanation of (A)
b) Both (A) and (R) are true but (R) is not the correct explanation of (A)
c) (A) is true but (R) is false.
d) (A) is false but (R) is true.
Q.7 3) If a 13-year old child is working in a factory, what is it called?
(a) Freedom to education
(b) Child labour
(c) Both (a) and (b)
(d) None of these
Q.8
Name the author of the book “The Call to Young India”
i.) Bal Gangadhar Tilak
ii.) Sarojini Naidu
iii.) Mahatma Gandhi
iv.) Lala Lajpat Rai
Q.9 Identify this historical place in the image and mention the importance of it




Q.10 a) Compare the soil cover of Northern Plains and the Himalayas in respect of topography. (2+3)
b) Enlist three measures of prevention of soil from being eroded.
Q.11 Over the years, India has developed its own unique concept of secularism that is fundamentally different from the

parallel western concept of secularism. In India, it basically connotes tolerance towards all religions, while in the West it
emphasizes a strict separation of religion and the State. Indian secularism allows the idea of state- supported religious
reform where the Indian Constitution bans practices such as child marriage, religious taboos and untouchability.
Secularism in India refers to the equal treatment of religions by the state. On the other hand, secularism in other
democratic countries refers to the complete separation of religion and state.

Choose the appropriate answer:

A. Indian secularism is different from other democratic countries, as :
a) The Indian states can intervene in religious affairs.

b) The Indian states cannot intervene in religious affairs.

c) India is the only secular country in the world.

d) None of these.

B . What is the purpose of Secularism?

a) To promote justice
b) To promote freedom
c) To promote equality
d) All of the above
C . Which of the following is associated with Secularism in India?

a) Seeks to promote equality.
b) Prevents undue domination.




Q.12

c) Prevents discrimination.
d) All of the above.

Analyse each of the following situations and mention the right/s it relates to :

a) A woman appeals to court because she is not being paid the same wages as her male colleagues.
b) The residence of the neighbourhood from a nature club are working on publishing a journal to promote
conservation of nature.

Analyse each of the following situations and mention the right/s it relates to :

a) A woman appeals to court because she is not being paid the same wages as her male colleagues.
The residence of the neighbourhood from a nature club are working on publishing a journal to promote conservation of

nature.

PROJECT WORK :

Prepare infographic presentation on the topic — “INDIAN CONSTITUTION - AT A GLANCE”




MAP WORK

Locate and level in an Indian political map —

a)
b)
c)
d)
e)
f)

Nearest dam of your area.
Regions of heavy rainfall in India where soluble rock material easily gets dissolved
Northern Plains -thick soil cover region
Himalayan Regions- thin soil cover region
The state in India where we found quick formation of soil.
World’s largest delta
Locate and level in a political world map
a)Nile delta
b) Surinam
c¢) United States
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